3k T FEEOCBLE, Fin (3Xa) AL -k

BT 5 & | R R K 5 8 IGmERI | 15~648% | 65mkbl b

i 5 52,613 147,787 74,698 73,089 22,540 | 111,715 13,532
gy % 1) 657 1,957 1,000 957 341 1,463 153
E . = fT 12 55 29 26 12 30 13
F 5 T 106 329 157 172 33 216 80
x H F fﬂI' 52 190 101 89 28 119 43|
* =3 my 218 668 348 320 95 472 101
X 25 HT 36 98 51 47| 10 68 20
X A 1 25 103 . 51 52 20 63 20
x = T 1,599 4,564 2,291 2,273 555 3,433 576
X =2 & 1 T H 322 910 448 462 146 663 101 |
X B A 2 T H 280 814 405 409 61 652 101
X EHE B 3 T H 281 843 412 431 65 688 | - 90
X E & 4 T B 357 1,030 489 541 117 759 o134
Kk E & 5 T H 294 889 435 454 58 740 91
X B2 & 6 T H 248 743 365 378 83 566 94
X =E &5 7 T 8B 254 . 718 370 348 84 565 69
& Wy 1,459 3,815 2,081 1,734 542 | 3,000 | 273 |

2 % 1 T H 252 676 344 332 86 472 | 118
g 5 2 T B 162 C 422 208 214 52 279 91
2 & 3 T B 438 1,317 650 667 116 1,035 - 166
£ & 4 T B 527 1,441 703 738 212 |- 1,090 139
A & 5 T H 334 982 470 512 181 | 723 .18
£ B 6 T H 391 1,088 538 550 117 - 767 o204
g5 7 7T 8 392 1,083 534 | 549 9% | 827 160

[ i1} 181 437 218 219 40 264 . 133

B & 1 T H 50 179 81 98 43 127 | 9
KB 2 T H 137 490 235 255 134 342 14
B & 3 T B 350 1,274 635 639 361 869 44 |
% T 2,853 7,303 3, 847 3,456 1,205 | 5,421 677

B fl N 2, 367 6, 456 3, 266 3,190 841 4, 961 654

#H i1} 199 626 313 313 |- 82| . 469 75

= T 91 341 161 180 59 210 72
# il 120 378 180 198 59| 264 |55 |

X 0B2 & 551 1,794 881 913 185 1,460 149

A 75 205 104 101 23 145 37




3R WTEIEHmEEOELD, £ (3X49) JIAO  —#ER (k)

i T F 4 A</ I R § B 7 1I5pEM | 15~648% | 65mbl L
g i if] 53 227 102 125 35 143 49
4 L AT 74 281 136 145 43 190 | 18
b A ixg 188 585 287 298 82 418 85
A 7N i) 5,474 14,778 7,561 7,217 2,577 11,032 1,169
H # T 209 484 235 249 50 265 169
= 1 Y 43 140 65 75 22 80 38

5 1] 90 338 168 170 38 211 89
T H iy 90 247 129 118 26 172 49
= ] 1] 567 1,766 878 888 267 1,280 219
% H 1] 771 2,227 1,118 1,109 235 1,680 312
B 2 1 25 88 37 51 16 60 12
=3 s my 1,249 3,226 1,659 1,567 512 2,487 227
FHmEd1 TEH 477 1,294 642 652 147 1,009 138
FHEIL2TE 594 1,730 863 867 340 1, 269 121
T Ad 3T EH 305 904 452 452 124 700 80
T A 4 TEHE 98 275 136 139 33 224 18
T+ A& 1T HE 715 2,037 984 1,053 199 1,593 245
F®mE®m 2T H 530 1,421 697 724 192 1,121 108
FH AWM 3TH 345 966 486 480 130 762 74
FTHEE1LITH 568 1, 655 816 839 249 1,294 112
T &5 W 2 T H 936 2, 654 1,285 1,369 425 1,994 235
T AR 3 TEH 799 2,358 1,‘156 1,202 365 1,836 157
FHmEHE4LTEHE 1,001 2,868 1,448 1,420 526 2,152 190
THE®E 1T H 194 556 273 283 53 430 73
T ea®m 2 TH 616 1,678 820 858 292 | 1,253 133
T AE®m3ITHE 415 1,049 505 544 182 780 87
FHEeE® 4T H 562 1,495 741 754 331 1,003 161
#H» B 1 T H 301 781 405 376 133 549 99
# # 2 T H 697 1,480 844 636 234 1,182 64
#® ® 3 T H 538 1,266 651 615 258 977 31
% ® 4 T H 396 840 455 385 139 656 45
#HEOE1TH 441 1,470 720 750 122 1, 240 108
MEOHE 2T H 248 847 395 452 71 726 50
wWHEOHE 3 TEH 190 642 312 330 77 510 55
HEDODE 4 TEH 403 1,253 610 643 102 1,046 105
Bt B 1] 334 764 424 340 131 585 48
g M ] 121 454 223 231 55 297 102




3k MTEIMEFEE OB, Fi (3X45) JIAD  —#HEX (F)

BT 3 % Wk | R K 5 £°q ISEE i | 15~64m | 65RELLE
e H my 729 2,434 1,226 1,208 324 1,802 308
M B i} 534 1,477 | 742 735 168 998 311
T8 % HE 1 T B 496 1,243 642 601 273 917 53
mHE E 2 T H 528 1,317 689 628 273 976 68
m oA B 3 T H 613 1,221 642 579 146 970 105
w B 4 T H 400 983 491 492 | - 125 763 95
7 H ® 5 T H 586 1,463 772 691 138 1,167 158
i = i1} 715 2, 243 1,092 1,151 264| . 1,574 405
& My 170 439 236 203 50 326 63
®oOOF b m 660 1,859 863 996 481 1,277 101
HADOhbH1TEH 288 805 408 397 144 605 56
HhoObhbB2TH 1,041 3,089 1,553 1,536 584 2, 356 149
Ao bH 3 TH 1,534 4,833 2,435 2,398 931 3,702 200
HobHB 4T H 666 2,027 1,013 1,014 368 1,578 | 81
KO hb& S5 T H 1,632 5, 045 2, 489 2,556 921 3,932 - 192,
5 1} 358 1,051 557 494 207 747 97
% 24 ] 48 171 91 80 12 121 38
P N Hy 5,288 14,745 7,638 7,107 2,176 11,476 1,093




